¥ land + marine source (TgN yr-')

6'°N(N,0) (%)

10.5

10

9.5

8.5

12

11

10

(@)

4500

50-year linear ramp

Y (land+ocean) emissions
from 8.8 to 10.4 TgN yr™"
for three scenarios:

f  44% to 55%

marine m

SI f  44% 10 35%

and m

S . f  44% const.
ixed m

5000 5500 6000

Time (yr)

(c)

Troposphere

-----

..... Sfixed

— |lce OD/BA

5000 5500
Time (yr)

6000

O (ppb)

260

250

240

~ 230
z

Reconstructed land, marine emissions (TgN yr1)

220

210

6.5

5.5

4.5

3.5

7 (b) ==
n 1
Identical for all 3 scenarios
] — — Troposphere
— 132-year filter
| et T 700-year cop
Ice OD/BA
i LI — — T —
4500 5000 5500 6000
Time (yr)
— Land emissions
S SIand
—S .
marine
| Sfixed
— Ice OD/BA
—{Marine emissions
-~ SIand .
- Smarine /——% ____
— 7 I
— = Sted 7
— — Ice OD/BA ,
1 /
= # —_————_-==F
T
!/ P
. !/ 7 // ~~_"
/ 7
PAe s
_____ A
|l ===~
N - '
(d)
- T LI — — T —
4500 5000 5500 6000

Time (yr)





